
Operaciones con Enteros (E)
Emplee una estrategia de enteros para encontrar cada respuesta.

480 ÷ -10 = -87 - -78 = -89 + -18 = 

49 × -36 = -42 - 31 = 22 - -6 = 

14 + 68 = -88 - 65 = -21 + -17 = 

3 × -98 = 72 + -24 = 6930 ÷ -70 = 

-17 × 27 = -2324 ÷ -83 = 29 + 90 = 

7410 ÷ 78 = -66 × -29 = -22 - -32 = 

14 × 11 = 52 - -62 = 72 × -60 = 

21 × -80 = 23 - 52 = 70 × 75 = 

-69 + 65 = -35 × -42 = 26 - -25 = 

13 × 18 = -30 - -51 = 18 - 7 = 
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Operaciones con Enteros (E) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

480 ÷ -10 = -87 - -78 = -89 + -18 =
= -48 = -9 = -107

49 × -36 = -42 - 31 = 22 - -6 =
= -1764 = -73 = 28

14 + 68 = -88 - 65 = -21 + -17 =
= 82 = -153 = -38

3 × -98 = 72 + -24 = 6930 ÷ -70 =
= -294 = 48 = -99

-17 × 27 = -2324 ÷ -83 = 29 + 90 =
= -459 = 28 = 119

7410 ÷ 78 = -66 × -29 = -22 - -32 =
= 95 = 1914 = 10

14 × 11 = 52 - -62 = 72 × -60 =
= 154 = 114 = -4320

21 × -80 = 23 - 52 = 70 × 75 =
= -1680 = -29 = 5250

-69 + 65 = -35 × -42 = 26 - -25 =
= -4 = 1470 = 51

13 × 18 = -30 - -51 = 18 - 7 =
= 234 = 21 = 11
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